

10.5. Для числа $m \in \mathbb{Z} \setminus \{0\}$ по
 остатку $p \in m$ называемые
 наименьшие неотрицательные
 число $e \geq 0$ такое, что $p^e | m$. Это
 число называется
 $e = \text{ord}_p(m)$. Докажем, что

$$\text{ord}_p(n!) = \frac{n - S_p(n)}{p-1}$$

где $S_p(n)$ — сумма цифр
 числа n в базе p . Тогда

$$n = a_0 + a_1 p + a_2 p^2 + \dots$$

$$a_0, \dots, a_2 \in \{0, 1, \dots, p-1\}, \text{ но}$$

$$S_p(n) = a_0 + a_1 + \dots + a_2$$

Доказательство:

$$\text{ord}_p(n!) = \sum_{i=1}^{\infty} \left\lfloor \frac{n}{p^i} \right\rfloor$$

i -ый член суммы обозначает количество чисел $\leq n$, у которых делитель p^i .

Пусть число $n = a_0 + a_1 p + \dots + a_r p^r$,

то

$$\begin{aligned} \text{ord}_p(n!) &= \sum_{i=1}^{\infty} \left\lfloor \frac{n}{p^i} \right\rfloor = \sum_{i=1}^{\infty} \sum_{j=i}^{\infty} a_j p^{j-i} = \\ &= \sum_{j=1}^{\infty} a_j p^j \sum_{i=1}^j p^{-i} = \sum_{j=1}^{\infty} a_j p^j \frac{p^{-j-1} - p^{-1}}{p^{-1} - 1} p^{-1} = \\ &= \sum_{j=1}^{\infty} a_j p^j \frac{p^{-j-1} - p^{-1}}{1-p} = \sum_{j=1}^{\infty} a_j \frac{1-p}{1-p} = \\ &= \frac{1}{1-p} \left(\sum_{j=1}^{\infty} a_j - \sum_{j=1}^{\infty} a_j p^j \right) = \\ &= \frac{1}{p-1} \left(\sum_{j=1}^{\infty} a_j p^j - \sum_{j=1}^{\infty} a_j \right) = \\ &= \frac{1}{p-1} \left(n - a_0 - \sum_{j=1}^{\infty} a_j \right) = \frac{1}{p-1} (n - s(n)) \end{aligned}$$